For the following examples...
Let’'s assume the minimum passing score is 75%.

How this was calculated:

Let's assume your region is Mississippi.

Using this chart, we know that the minimum passing score for this exam in Mississippi is 149.
We divide that number by 200. So, 149 + 200 = 74.5, rounded up to 75%.

Sample 1

You graded your own essay questions and scored the following:
Question 1: 2 (converted to 66%)
Question 2: 2 (converted to 66%)
Question 3: 3 (converted to 100%)

These are the grades you received on the multiple choice exam:
United States History: 79%
World History: 80%
Government/Civics: 71%
Geography: 73%
Economics: 71%

1) Use the following formula to determine your score:

[(UHST)*(19)[+[(WHST)*(.15)]+[(GV/CVCS)*(.14)|+[(GRPHY)*(.14)[+[(ECN)*(.16)]+[(ESY 1)*(.083)+[(ESY2)*(.083)]+[(ESY3)*(.083)]
[(79)*(19)]+[(BO)*(.15)I+[(71)*(.14)]+[(73)*(.14)1+[(71)*(.16)]+[(66)*(.083)]+[(66)*(0.83)]+[(100)*(.083
)]

[15.01]+[12]+][9.94]+[10.22]+[11.36]+[5.478]+[5.478]+[8.3]

77.786%

2) The minimum passing score is 75%. You scored 78%. You passed the exam by an additional
3%. It is estimated that you will pass with average studying.

- If you passed the exam or missed it by 3%, you will likely pass with average studying.
- If you missed the exam by 3%-8%, you will likely pass with rigorous studying.
- If you missed the exam by 8%-13%, you will likely pass with extremely rigorous studying,

- If you missed the exam by more than 13%, please contact your region to coordinate an appropriate plan.


http://www.ets.org/s/praxis/pdf/passing_scores.pdf

Sample 2

You graded your own essay questions and scored the following:
Question 1: 2 (converted to 66%)
Question 2: 2 (converted to 66%)
Question 3: 1 (converted to 33%)

These are the grades you received on the multiple choice exam:
United States History: 75%
World History: 72%
Government/Civics: 74%
Geography: 74%
Economics: 75%

1) Use the following formula to determine your score:

[(UHST)*(19)[+[(WHST)*(.15)]+[(GVICVCS)*(.14)[+[(GRPHY)*(.14)]+[(ECN)*(.16)[+[(ESY1)*(.083)[+[(ESY2)*(.083)+[(ESY3)*(.083)]
[(7S)* (19 [(72)*(13)1+[(74)*(.14)1+[(74)*(.14)]+[(75)*(.16)]+[(66)*(.083)]+[(66)"(0.83)]+[(33)*(.083)]
[14.25]+[11.25]+[10.36]+[10.36]+[12]+[5.478]+[5.478]+[2.739]

71.915%

2) The minimum passing score is 75%. You scored 72%. You missed the exam by 3%. It is
estimated that you will pass with average studying.

- If you passed the exam or missed it by 3%, you will likely pass with average studying.
- If you missed the exam by 3%-8%, you will likely pass with rigorous studying.
- If you missed the exam by 8%-13%, you will likely pass with extremely rigorous studying,

- If you missed the exam by more than 13%, please contact your region to coordinate an appropriate plan.



